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13 3245 3 M1 for 3000 × 1.04
2

 

A1 for 3244.8 

If zero, SC2 for answer of 245 

If zero, SC1 for their answer corrected to 

nearest dollar 

14 (a) (0)8(.)01(am)  

 

(b) 78.4 or 78.38 to 78.39 

1 

 

3 

Not 8.01 pm 

 

M2 for 827 ÷ 10.55 

 

or M1 for figs 827 ÷ their time 

15 (a) (i) 9 

 (ii) 15 03, 3.03pm 

 

(b) (i) 7 or −7 

 (ii) 17 

1 

1 

 

1 

1 

 

16 (a) 84° 

(b) 10 

(c) 60 

 

(d) 

360

96

 or 

60

16

 

1 

1 

1ft 

 

1ft 

Check diagram 

 

ft their (b) × 6  where (b) is an integer 

 

ft 

 their 

16

(c)

oe  where (c) is an integer 

17 (a)
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

2

6

 

(b) C marked at (1, 2) 

(c) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−3

4

 

(d) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

4

12

 

1 

1 

1 

1 

 

18 (a) 66° 

 

(b) 114° 

 

(c) 33° 

2 

 

1ft 

 

1ft 

M1 for 90° clearly identified as A 

 

180 − their (a) 

 

2

their 180 (b)−

   or   

2

their (a)

 

19 (a) (i) x + 7 

 (ii) 3x 

 

(b) (i) x+their (a)(i)+their (a)(ii)=32 

  or better 

 (ii) (x =) 5 

 

 

(c) 12 

 

1 

1 

 

1ft 

 

2ft 

 

 

1ft 

 

 

 

ft dependent on 2 algebraic expressions in (a) 

 

M1 for 5x = 32 − 7 oe 

ft their (b)(i) with M1 for ax = b 

and A1 if answer is an integer. 

ft their (b)(ii) substituted into their (a)(i)  

or their (b)(ii) + 7 evaluated correctly 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 64 1cao  

2 52 1  

3 

 

 

(a) 

10

3

 or 0.3 or 30% 

 

(b) 0 or 

10

0

 or 0% 

1 

 

1 

 

4 58.25  Y  d  <  58.35 1,1 SC1 for both correct values but reversed  

5 

 

Working must be shown.  

 

2 

 

M1 

9

14

and 

9

16

    M1 

8

7

16

14

= oe  

or visible cancelling  

6 

 

0.8
2

 

 

2 

 

M1 conversion of 

27

16

(= 0.5(9..)) and  

0.8
2

 (= 0.64) to decimals seen
 

7 5.51 × 10
3

 2 B1 for 5.508 × 10
3

 or figs 551 

or 5.5 × 10
3

 

8 euros (with correct working)  

or (6)€  

2 M1 one of 6 × 1.9037 or 11.5 ÷ 1.9037 

or 11.5 ÷ 6 seen 

9 

4x
–24

 or 24

4

x

 2 B1 4x
n

 B1 24

x

k

or  kx
–24

 for any numerical k, n 

10 14.4(……)  3 M2 for )9(17
22

− or 

M1 for 17
2

 = x
2

 + 9
2

 or better seen 

11 (a) (0)700 or 7 am  

 

(b) 1700 or 5 pm 

2 

 

1 

M1 100 – (5 × their(22 – 6) + their(13 – 8))  

or better  soi 
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12 

(a) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

3

2

 

 

(b) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 3

2

 

1,1 

 

 

 

1ft 

B1 for 1 correct component. 

SC1 for both correct but written as coordinates as 

the answer. 

 

ft their (a) with signs reversed. 

Not a strict follow through. 

13 

(a) 

4420

80

×−

 

 

(b) 20 

 

(c) 14.0 

1 

 

  
1 

 

2 

Condone either 78 for 80 or 22 for 20 but not 

both. 

 

 

SC1 for answer 13 if clearly from  

78 ÷ (22 − 4 × 4) or 78 ÷ (22 − 16). 

B1 for 13.9(9……….) or 14 in working or in the 

answer. 

14 (a)  (1, 2,) 3, 6, 9, (18) 

 

(b) 2, 3 

 

(c) 54, 72, 90 

2 

 

1 

 

1cao 

B1 for 2 correct.  

15

 

(a) 2x − 11y final answer 

 

(b) 3x(2x − 3y) final answer  

2 

 

2 

M1 for 6x − 15y or − 4x + 4y or better seen or 

B1 for 2x ± jy or kx − 11y. 

B1 for 3(2x
2

 − 3xy) or x(6x − 9y) or 

3x(2x − by) or 3x(ax − 3y)  (a, b ≠ 0) 

16 (a) 17.5(………) 

 

(b) 20.38 to 20.44 

2 

 

2ft 

M1 for sin38 = 

5.28

x

 or better 

M1 for tan (BCD =) their (a) ÷ 47.1 

17 (a) Diameter 

 

(b) 27 

1 

 

3 

 

 

M1 for (180 − 54) ÷ 2 

M1 ind for 90 − their angle OBD. 

18 (a) (i) 

 

 

 

 (ii) 

 

                          R 

(b) 

 

 

2 

 

 

 

2 

 

 

1 

B1 correct line  

B1 2 sets of correct arcs 

 

 

B1 correct line       

B1 two sets of correct arcs  

 

correct region, shaded or shown by the letter R  
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 (e) (i) 

360

100

oe (0.2777… or 27.77…%)  1ft ft  their table if used i.e. 

288

80

their

their

 

 
  (ii) 

360

310

oe (0.8611… or 86.11…%) 

 
2ft 

 
M1 for 120 + 90 + 100 or 96 + 72 + 80 

ft their table if used i.e. 

288

248

their

their

 

  (iii) 0 1 allow 0/360 or 0/288, zero, none, impossible 

 (f) 400 1ft ft their table or their (e)(i) if either used 

must be an integer answer 

4 (a) 1.12 2 M1 for 1.4 × 0.8 

 (b) 224 1ft ft (a) × 200 

 (c) (i) 39.3 (39.25 to 39.28) 2 
M1 for 20025.0π

2

××  

  (ii) 185 (184.7 to 184.8) 1ft ft their (b) – their (c)(i) 

  (iii) 4.9 cao        www 3 3ft M1 for (c)(i) ÷ 8000 

A1 for 0.00491 (0.004906 to 0.004910) 

ft their (c)(i) 

5 (a) (i) 

 

  (ii) 

–1.5, 2, 1.5 

 

12 correct points 

 

Correct curve in two branches through 

at least 10 points 

2 

 

P3ft 

 

C1 

B1 for 2 correct 

 

ft their table P2 for 10 or 11 points ft P1 for 8 or 

9 points  

must be two branches of a rectangular hyperbola 

between the axes 

 (b) (i) 

 

  (ii) 

0, –1.5, –1.5, 0 

 

9 correct points 

 

Correct curve through at least 7 points 

2 

 

P3ft 

 

C1 

B1 for 2 or 3 correct 

 

ft their table P2 for 7 or 8 points ft P1 for 5 or 

6 points  

must be close to parabola in shape  

 (c) (2.7 to 2.99, 2.01 to 2.3) cao 1, 1  

6 (a) 70 2 M1 for 180–140 or 40 at A oe 

 (b) 108 2 M1 for 72 vertically opposite to given 72 or next 

to q or 108 next to 72 given 

 (c) 54 1  

 (d) 68 1  

 (e) (i) 

 

  (ii) 

Similar 

 

12.5 

1 

 

2 

Allow enlarged 
 

M1 for 

8

10

10

=

XZ

  oe or better 
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3 (a) Scale shown on axis in 2s or 4s or 5s 

Bars correct for their linear scale 

1 

2ft 

 

B1 for 3 bars correct or  

B1 for 4 correct tops only shown,  

B0 for line graph 

allow consistent gaps between bars 

 (b) Silver 1  

4 (a) (i) ($)57.5(0) 2 M1 for 12 + 6.5 × 7 

  (ii) 12 + 6.5(0) n  oe 1  

  (iii) 5 2ft M1 for (44.5(0) − their 12) ÷ their 6.5  soi 

 (b) (x =) 5, (y =) −7 3 ww both correct B3 

ww one correct B0 

M1 for consistent multiplication and add/subtract 

or by substitution M1 for  

5x + 3(3x − 22) = 4 oe  

A1 for 1 correct answer 

5 (a) Triangle, Pentagon, Octagon 1,1,1 In correct position in the table 

 (b) (i) (x =) 40 2 M1 for 360 ÷ 9 or complete long method 

  (ii) 140 1ft ft 180 − (b)(i) 

6 (a) (i) 1700 1  

  (ii) 1858(.3…) or 1860 2 M1 for attempt at sum divided by 12 

or SC1 for 20558.3 

  (iii) 1750 2 M1 for clear attempt to find the middle 

 (b) (i) (Strawberry) 120 

(Vanilla) 100 

3 B2 if only one is correct 

B1 for Strawberry + Vanilla = 220 

and/or 

M1 for  

(Strawberry) 3600 ÷ (4200 + 3600 +3000) × 360 

or 140 ÷ 4200 × 3600 or better 

or (Vanilla) 3000 ÷ (4200 + 3600 +3000) × 360 

or 140 ÷ 4200 × 3000 or better 

  (ii) Angles correct 

Labelling with names 

1ft 

1ft 

Independent.  

Consistent with angles in their table. 

 (c) (i) 5 points correctly plotted 2 B1 for 3 or 4 correct 

  (ii) Positive 1  

  (iii) Hotter weather more sales 1 Or any equivalent statement 
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Qu. Answers Mark Part Marks 

1 119 1  

2 (a) 24 

 

(b) (24), 48, 72, 96 

1 

 

1 

 

 

SC1 for ans (48), 96 if their (a) is 48. 

3 3p(2m − 3q) final answer 2 W1 for 3(2mp − 3pq) or p(6m − 9q)  

or 3p(am ± bq) where a and b are integers. 

4 

20

7

or equivalent fraction isw  www 

 

2 M1 for 

54

15

54

42

×

×

+

×

×

 or 

20

5

20

8

+  or 0.4 + 0.25  

or 1− 

20

5

20

8

−  or 1 − 0.4 − 0.25 or 40 + 25 

or 400 + 250 or 1000 − 400 − 250 seen 

If M0 then SC1 for 

20

7

 with no, incomplete or 

wrong working. 

Condone if followed by 0.35 or 35% 

5 (a) 22 10, 22:10, 22.10, 10 10pm 

 

(b) 11(h) 35(min) 

1 

 

1ft 

 

 

Follow through time period from their (a) to 09 45 

6 1904 2 M1 for 400 × 4.76 

7 66.5  2 

cao 

W1 for figs 665  

or SC1 answer of  66.5 < LB < 67.5  

8 (±)√(m + 2) final answer 2 W1 for p
2

 = m + 2  

or ft square root after incorrect first step(s). 

SC1 answer of (±)√m + 2  

9 (a) (0)34 to (0)36  

 

(b) 286 to 289  

1 

 

1 

 

 

 

10 (a) 6 

 

(b) 520  

1 

 

2 

 

 

M1 for 5 × 10
2

 − 10 × −2, or better  

If zero, SC1 for answer of 480 or 2520 

11 (a) Line of fit by eye 

 

(b) Negative 

 

(c) Older children run faster  

1 

 

1 

 

1 

 

12 (a) −3 

 

(b) (i) p
5

 

1 

 

1

 

 

 

 (ii) m
–4

 or 
4

1

m

 1
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Qu. Answers Mark Part Marks 

1 109 1  

2 10 26 (am), 10:26,  10.26 1  

3 12, 16, 24 

 

2 W1 for any 2 correct out of their 2 or 3 answers in 

the range  

or W1 for all 3 with other factors outside the 

range.  

4 (a) > 

 

(b) < 

1 

 

1 

 

5 20 2 M1 for 

21000

)1680021000(their −

 or 

21000

4200

 

6 y = 3x – 2 oe final answer 2 W1 for 3x + j,  j ≠ 5   

or W1 for kx − 2,  k ≠ 0 

7 

40

11

 or equivalent fraction isw  www 

Condone if followed by 0.275 or 27.5% 

2 

cao 

M1 for 

58

15

85

83

×

×

+

×

×

 or 

40

24

40

5

+  or 0.6 + 0.125  

or 

40

24

40

5

1 −−  or 1 − 0.6 − 0.125 or 600 + 125 

or 60 + 12.5 or 1000 − 600 − 125 seen 

If M0, then SC1 for 

40

11

 with no, incomplete or 

wrong working. 

8 (a) 519.504 

 

(b) 520 

1 

 

1ft 

 

 

Only ft if their (a) is 4 figs or more 

9 44.2    

or 44.15  to  44.19 

2 M1 for 3.75
2

 × π 

10 (a) 2 

 

(b) A M T 

1 

 

2 

 

 

W1 for 4 letters listed, 3 of them correct  

or W1 for 2 and only 2 correct  

11 (a) m
–2

, 
2

1

m

 o.e. 1 

 

 (b) 5k
6

 2 W1 for 5k
n

 (n ≠ 0) or mk
6

 (m ≠ 0).
       

 

12 12 3 M1 for exterior angle 180 − 150 implied by 30 

(could be on the diagram) 

and M1 dep for 360 ÷ their 30 

13 (a) 15 – 20h final answer 

 

(b) 24d
3

 + 4de
2

 final answer 

1 

 

2 

 

 

W1 for 24d
3

  or  (+)4de
2

 seen 

14 (a) 16.1 

 

(b) 16100  

2 

 

1ft 

M1 for 4 × 2.3 × 1.75, or better 

 

1000 × their (a) 
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Qu. Answers Mark Part Marks 

1 109 1  

2 10 26 (am), 10:26,  10.26 1  

3 12, 16, 24 

 

2 W1 for any 2 correct out of their 2 or 3 answers in 

the range  

or W1 for all 3 with other factors outside the 

range.  

4 (a) > 

 

(b) < 

1 

 

1 

 

5 20 2 M1 for 

21000

)1680021000(their −

 or 

21000

4200

 

6 y = 3x – 2 oe final answer 2 W1 for 3x + j,  j ≠ 5   

or W1 for kx − 2,  k ≠ 0 

7 

40

11

 or equivalent fraction isw  www 

Condone if followed by 0.275 or 27.5% 

2 

cao 

M1 for 

58

15

85

83

×

×

+

×

×

 or 

40

24

40

5

+  or 0.6 + 0.125  

or 

40

24

40

5

1 −−  or 1 − 0.6 − 0.125 or 600 + 125 

or 60 + 12.5 or 1000 − 600 − 125 seen 

If M0, then SC1 for 

40

11

 with no, incomplete or 

wrong working. 

8 (a) 519.504 

 

(b) 520 

1 

 

1ft 

 

 

Only ft if their (a) is 4 figs or more 

9 44.2    

or 44.15  to  44.19 

2 M1 for 3.75
2

 × π 

10 (a) 2 

 

(b) A M T 

1 

 

2 

 

 

W1 for 4 letters listed, 3 of them correct  

or W1 for 2 and only 2 correct  

11 (a) m
–2

, 
2

1

m

 o.e. 1 

 

 (b) 5k
6

 2 W1 for 5k
n

 (n ≠ 0) or mk
6

 (m ≠ 0).
       

 

12 12 3 M1 for exterior angle 180 − 150 implied by 30 

(could be on the diagram) 

and M1 dep for 360 ÷ their 30 

13 (a) 15 – 20h final answer 

 

(b) 24d
3

 + 4de
2

 final answer 

1 

 

2 

 

 

W1 for 24d
3

  or  (+)4de
2

 seen 

14 (a) 16.1 

 

(b) 16100  

2 

 

1ft 

M1 for 4 × 2.3 × 1.75, or better 

 

1000 × their (a) 
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15 (a) 2r + 3s  final answer 

 

(b) g – 5f
2

 final answer 

1 

 

2 

 

 

W1 for g or for – 5f
2

 seen 

16 276 

or 276.3 to 276.5 

 

3 M2 for 2π × 4 × 11, or better, seen 

or  M1 for 2π × 4 

SC1 for 4 × π × 11 or 138…., seen  

17 (x =) 4   (y =) 7  www 3 M1 for adding or multiplying and subtracting 

(allow errors in arithmetic operations) 

or any other correct methods 

A1 for one correct variable. 

18 (a) 90° 

 

(b) 70° 

 

(c) 35° 

1 

 

1 

 

1ft 

 

 

 

 

ft their (b) ÷ 2 only 

19 (a) ⎟
⎠

⎞
⎜
⎝

⎛

0

18

 1, 1 

 

 

(b) ⎟
⎠

⎞
⎜
⎝

⎛−

8

5

 1, 1 

 

20 (a) 45 

 

(b) 1.5 o.e. 

 

(c) horizontal line from 

 (5.5, 40) to (6.5, 40)  

 diagonal line from their  

 (x, 40) to (x + ½ , 0) 

1 

 

1 

 

1 

 

1ft 

 

 

Allow 1 h(our) 30(min) or 1:30  

 

 

 

Independent 

21 (a) 13.2 

 or 13.22 to 13.23 

3 

 

M2 for  √(16
2 

– 9
2

) or √175 

or M1 for 16
2

 = x
2

 + 9
2

 or better 

 

(b) 8.22 to 8.23 2 M1 for cos 24 = 
9

CD

 or better 
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13 (x =) 4 

(y =) − 1 

 

3 M1 for multiplying and subtracting or adding as 

appropriate. 

(allow errors in arithmetic operations) 

or any other correct methods. 

A1 for one correct variable 

14 (a) 90° 

 

(b) 72° 

 

(c) 90° 

 

(d) 36° 

1 

 

1 

 

1 

 

1 

 

 

 

 

 

 

Ft 180 − (54 + their (c)) 

15 (a) ⎟
⎠

⎞
⎜
⎝

⎛

−9

4

 1, 1 
 

 

(b) ⎟
⎠

⎞
⎜
⎝

⎛

28

0

 1, 1 
 

16 lines of symmetry 1 0 

 

order rotational 1 4 

1, 1 

 

1, 1 

 

 

 

17 (a) (i) 0.3 oe 

 

 (ii) 18 

 

(b) horizontal line to (30,3) 

 

 line from  (30,3) to (45,0)  

 OR from their (x,3) to (their x + 15, 0)

1 

 

1 

 

1 

 

1ft 

 

 

 

 

Follow through their (a)(i) × 60 

18 (a) y(3y – 7x) final answer 

 

(b) 4p
2

 + 17pr + 2r
2

 final answer 

 

1 

 

3 

 

 

W2 for 2 correct terms in answer. 

 

W1 for 1 correct term in answer. 

OR 

M1 for 4p
2

 + 5pr   and 

M1 ind for 12pr + 2r
2

 

19 (a) (i) 12 

 

 (ii) 120 ft 

 

(b) (i) 625 

 

 (ii) 0.0625  

1 

 

2 

 

1 

 

1ft 

 

 

M1 for attempt to multiply their (a)(i) by 10  soi. 

 

 

 

or their (b)(i) ÷ 10 000 

 



Circles / polygons / angles / parallel lines 1 Answers
11)

12) 

13) 

14) 

15)
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19 (a) 

14

5

3

4

×
 

 

M2 

 

 

M1 for 

5

14

3

4

÷
 

and M1 for ‘correct’ expression with  

their inverted 2
nd

 fraction  

 
 

21

10

 A1 Allow 

42

20

 isw for attempt to cancel only 

 

(b) 

15

13

 + 

15

33×

 or better or equivalent B2 

 

If B0, then B1 for 

15

13

 + their 

15

9

 or equivalent 

pair of fractions 

 

 

15

7

1  B1ft Independent 

ft their improper fraction given as a mixed number  

20 (a) Trapezium 

 

 

(b) p = 32°, alternate  

 

 t = 99°, exterior angle (of) triangle 

1 

 

 

1, 1 

 

1ft, 1 

 

 

 

Accept Z angles  

 

ft if t = p + 67 

Accept angle of triangles and angles on straight 

line 

 
 w = 74°, (base angle) isosceles triangle 1 , 1 Accept )32180(

2

1

−  with isosceles 

 

Page 2 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – October/November 2010 0580 12 

 

© UCLES 2010 

Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 134 1  

2 512(.00) 1  

3 (a) −7 

 

(b) (+)6 

1 

 

1ft 

 

 

ft −1 − their (a)  

4 1.43 × 10
9

 final answer 2 B1 for answers of 1.43 × 10
n

 (n ≠ 0)  

or figs 143 or 1.429(….) × 10
9

 

SC1 for answer of 1.42 × 10
9

  

or 1.4 × 10
9

 

5 899.5 Y w < 900.5 2 B1 for 1 correct or  

SC1 for correct but reversed. 

6 10 www 2 M1 for 15 ÷ 6 soi 

or B1 for 

4

6

 = 

EF

15

 oe or better 

7 662.794 to 663.304…. final answer 3 M2 for 600 × 1.034
3

 or 

M1 for (600 + 0.034 × 600) × 0.034  

or (600 × 1.034) × 0.034 and 

M1 dep correct method for the remaining time. 

8 (a) 4p(2q + 3r) 2 B1 for p(8q + 12r) or 2p(4q + 6r)  

or 4p(aq + br) a, b integers or 4(2pq + 3pr) 

 

(b) (p =) 

)32(4 rq

s

+

 oe 1ft ft if p is a common factor in (a) or in working in (b) 

9 (a) 245 1  

 

(b) 360 2 M1 for 

7

3

 × 840 or  

SC1 for answer 480 
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10 (a) 

43

15

 cao final answer 

 

1 If zero in (a) and (b) then 

SC1 if both (a) and (b) are correct decimals or 

percentages as answers. 

(Mark as 0 for (a) and SC1 for (b)) 

 

(b) 

43

42

 cao final answer 1 

 

 

(c) 0 or 

43

0

 1 

 

11 (a) (x=) 35 

 

 

(b) (y=) 55 

2 

 

 

1ft 

B1 for angle BDC = 90 soi  

May be marked on the diagram 

 

ft 90 − their x 

12 (a) (i) (x=) 6 

 (ii) (x=) −2 

 

(b) 3 

1 

1 

 

1 

 

13 (a) Two stage proof 

 

2 M1 for 

75

5271

×

×+×

 or 

75

52

75

71

×

×

+

×

×

 

or alt 

5

4

 − 

7

2

 or 

7

5

 − 

5

1

 

M1dep for 1− their 

35

17

 or 

35

18

 + 

35

17

 = 

35

35

 

or alt 

35

1028−

 oe or 

35

725−
  oe 

 

(b) 

35

6

 final answer 2 M1 for 

3

1

 × 

35

18

  oe 

If zero SC1 for answer of 

35

12

 

14 (a) (i) 

5

905.0810 ×−×

 1 

 

  (ii) 7(.0) cao 

 

 

(b) 5.92 or 5.919(…..) 

2 

 

 

1 

B1 for 80 (from 10 × 8) or 45 (from 0.5 × 90) or  

5 (denominator) seen 

15 (a) (i) 175 

 (ii) 70 

 

(b) 2 points plotted correctly (±1mm). 

 

(c) Positive 

1 

1 

 

1 

 

1 
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14 (a) 17 

 

(b) √17 or 4.12(….) 

 

(c) 0.294 

1 

 

1 

 

1 

 

15 212.18 final answer cao 3 M2 for 200 × 1.03
2

 oe 

or M1 for (200 × 1.03) × 0.03 oe  

16 (a) 90 1  

 

(b) 45 1ft ft 

2

1

 (180 − their (a)) 

 (c) 45 1ft ft 90 − their (b) 

17 (a) (7 + 2) × 9 

 

(b) 36 ÷ (6 ÷ 2) = 12 

 

(c) 5 × (3 + 6) × 2 = 90 

1 

 

1 

 

1 

 

18 (a) (i) ⎟
⎠

⎞
⎜
⎝

⎛

5

4

 1 

 

 

 (ii) ⎟
⎠

⎞
⎜
⎝

⎛

− 2

2

 1 

 

 (b) (AC) + (CB) = (AB) 1  

19 (y =) −

3

1

x + 2 cao 3 B1 for gradient of  ±

3

1

 oe  

(Allow ±0.33 or better) 

B1 ind for mx + 2 where m ≠ 0. 

20 (a) (i) 4 1  

 

 (ii) 

5

4  oe 1 

 

 

 (iii) 

5

2

 oe 1 

 

 

(b) 

4

2

 oe 1 

 

21 (Mode =) 0 

(Median =) 2 

(Mean =) 2.7 

1 

1 

2 

 

 

M1 (0 + 0 + 0) + 1 + 2 + 2 + 4 + 4 + 5 + 9 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

art anything rounding to 

soi seen or implied 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 84 cao 

 (ii) 31 or 37 cao 

 (iii) 121 cao 

 (iv) 125 cao 

1 

1 

1 

1 

 

 

(b) 31.0

9

5

%55 <<  oe for each term 2 M1 for all numbers written as decimals or for all 

numbers written as percentages  

2 (a) 90° 

 (Angle between) tangent and radius/ 

diameter 

 

(b) (i) 54° cao 

1 

 

1 dep 

 

1 

 

  (ii) )54180(
2

1

−×  

  or 180 – 90 – 
1

/
2 
(180 – 126) 

  or 54/2 followed by  

  (180 – 90 – 27 oe) 

2 M1 for using isosceles triangle POR 

or M1 for using isosceles triangle ROS then 

triangle PRS 

 (c) (i) 90° cao 

 (ii) 27° cao 

1 

1 

 

3 (a) (i) 63 

 

 (ii) 38 cao 

 

(b) (i) 1.5 cao 

 (ii) 4 

 

(c) 80° 

 

(d) (i) 1 hour 

 (ii) 4 and a half more suns drawn 

 

(e) (i) 4 correct plots 

 (ii) Positive 

2 

 

1 

 

1 

2 

 

2 

 

1 

1 

 

2 

1 

M1 for their “378” ÷ 6 

or SC1 for 333 seen 

 

 

 

B1 for attempt to order the numbers 

 

M1 for 84 ÷ their total × 360 

 

 

Condone size, shape of suns 

 

B1 for 3 or 2 correct 


